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VI Semester B.Com. Degree Examination, September - 2021
COMMERCE
Cost Management
(CBCS Scheme)
Time : 3 Hours Maximum Marks : 70
Instructions to Candidates:
Answer should be Written completely either in Eliglish or in Kannada.

SECTION -A
TN — D

Answer any Five sub-questions from the following. Each sub-question carries Two marks.
(5%2=10)
O3PPTTTR WD B JJRIR LZOR. TS LWTTFR ST LOINH.

1. a) Givethe meaning of Business process re-engineering.
TIRT JFORCH Ot FOWICNOOTT SFF I, ALB.
b)  What is material cost variance?
WA [y BIYRBOTTR?

c) What is Flexible budget?
WD BNONE  TZR0TBED?

d) Define marginal costing.
$03T WL TARD, WOV,
A = =, B

e) State any two benefits of ABC costing.
23eDTWLIE B0 aﬁzg‘dm::‘gtﬁ NTE VRTRVIATR), BROA.

f)  What is a sales budget?
SIS LOTIVERD T, POWSET?

g)  Whatis Contribution?
BRBIN AOTBeN?

[P.T.O.
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Answer any Three of the following. Each question carries Six marks.

SECTION - B
N — W

CIRRYBETR R JFNVR YOZ0A. T[N ST SOINN.

2.  What are the essentials for success of cost control?
5%, DOPOZT oDBAR BegordE B WOINFPI)?

State the advantages of Budgetary control.

SODBOD VODOTRT VIRV SR

4. From the following information calculate:

a)
b)

c)

Profit volume ratio.

Fixed costs.

Sales volume to earn a profit of Rs.40,000.
Sales Rs. 1,00,000

Profit Rs.10,000

Variable cost 70%

83 FYNT B0&S80W0T.

a)
b)

c)

g WS, TS

3. 40,000 ooy T[BEODLD [RTIWE PBHRT FOWERRBOND.
=poee3 dwe. 1,00,000

eogd dw. 10,000

WO ﬁzi 3e 70.

5. From the following calculate labour variances of Department A

Particulars Department A
Actual direct wages Rs.2,000
Standard hours 8,000
Standard rate per hour 30 Paise

Actual hours worked 8200
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39N DTTRPOT DR A 0 Fb TS, FOT HRAND.

D=0 S A
29A® 3eT 3R _ 8%.2,000
MOBEE TiovRE ' 8,000
AOBEE TT BB riotdnt 30 33
IS rotnw 8200

6. A company manufactures two products A and B using common facilities. The following
_ cost data for a month-are presented to you.

ProductA Product B
Units produced 1,000 2,000
Direct labour hours per unit 2 3
Machine hours per unit 6 1.5
Setup of Machines 15 50
Orders 18 70 -

Machine activity expenses Rs.3,00,000.

Set up related expenses Rs.30,000

Expenses relating to orders Rs.35,000

Calculate the overheads per unit absorbed using activity Based costing approach.

PR, RoBATE, WSRNA £0TH T0TR A0 TEBFAYH, A 3 B oD
TIORIBAI. 20T SONOS [P B3 FYTOBOSR.

A Igs B Zmogs
YOBIRAT CNEFND 1,000 2,000
3¢3 3O ROHRY [ OPENEFR 2 N
T3 DRI 0DoZ, nogdngd 6 | 1.5
cHOZRY TS 15 : 50
e3T3e3nD 18 . _ 70

oho3ne Ben|edd e de. 3,00,000

mIER HowoAT DeFTiy . 30,000

STEBNER FOWONAT DWFN "Tw. 35,000

TS ODRIFT oeed DdFNTEd, ABC ZIZI, evFodReNd BOW SHBCWD.
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Answer any Three of the following. Each question carries Fourteen marks.(3x14=42)
CSRPRBTR et TR wvIoR. T2 TIF 14 ©oIRD.

7.  The budgeted overhead and cost driver Volumes of Karthik Ltd. are as follows:

Cost Pool Budgeted

Over head
Material Procurement Rs.3,95,000
Machine setup Rs.3.60,000
Maintainance Rs.2,00,000
Quality control - Rs.1,60,000
Machinery Rs.4,50,000

Cost driver Budgeted Volume
No.of orders . 850
No.of Setup 400
Maintainance hours 3100
No.of inspection 800
No.of Machine hours 26,000

The company has produced a batch of 2500 components of AZ. Its material cost was
Rs.1,50,000 and labour cost Rs.2,00,000. The usage of activities of this batch is as

follows:

Material orders 20
Setup of Machines 22
Maintainance hours 1560
No.of inspections 25
Machine hours 1500

Calculate cost driver rates that are used for computing appropriate amount of
overhead to this batch and ascertain the cost of the batch of the component using activity

based costing,
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FodF T Qo3 D PO RPRERADD e 532:3; aSoeg OT DOTRER Ts BPB0T0SE.

% Ton=s VO FREFRT VT BOTID T30
sheen i3 SRRYY T FWOTIED

AOEON, 0L T».3,95,000 Sinle RO, ' 850
0b0Z AYT 8%.3,60,000 RREING HO, 400
VBE RN, 82.2,00,000 ABFBD NoLINE 3100
TDEBIILS VEDF O 8%.1,60,000 ToReZeRNY Fos, 800
odogrish 32.4,50,000 0DOZNY o 26,000

FOTRIOIR L0 @afbod)@ 20T BoTT 2,500 ﬁor’ﬁ% A7 TTRTFE 3RO, BT
AN aﬁzs 1,50,000 adaeo 3RO Dedbs TR.2,00, 000 em,;oimem@éa BLDTEIING
DR BB %e;-doz:’ao@d

AR, BTSN

O0E, A T3

QADEB®H® NOLIND

TOWETLL RO
) 3]

003, yuEicdeen o
3% WPVT TT DY, TRFE SSPOIONII Toeed SBR[, WeTIE SHeT Ve
RTIR0CT FOR HLEROWO.

The information regarding composition and the weekly wage rates of labour force engaged
on a job Scheduled to be completed in 30 weeks are as follows:

20

22,

560

25

1500 negdnsd

Actual

Standard
Types of labour No.of workers | Weekly wage | No.of workers| Weekly wage
rate per hour rate for hour
Skilled 75 60 70 70
Semi skilled 45 40 30 50
Unskilled 60 30 R0 20

The work completed in 32 weeks.

Calculate :

a)  Labour cost variance
b) Labour rate variance

c) Labour efficiency variance

d) Labourmix variance

[P.T.O.
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30 TORUY FINCLOS 2,03 FORT TITH 30 DA & 90EOSE,
233 Tt R
20 Boa3, [FO 800 Td BNy o [weon 260 G I
B 33 riowdn rownt
PBOT TNETH 75 60 70 70
o3 PIOT wavrddy 45 40 30 50
P30S FAFBD 60 30 80 0

BORD 32 Weon$d BONOINTT.
BO@ HBOWNO.
a) @WRO 3.323 DI

b) ed T B
¢) weed B33 m—m

d) ?DZ:&P@ @Dﬁ :{@udrd

The sales and profits for two years as below.

Years Sales (Rs.) Profit (Rs.)
2019 1,20,000 8,000

2020 1,40,000 13,000
Calculate:

a) P/Vratio

b) Break even Point

¢)  Profit when sales are Rs.1 80,000

d)  Sales required to earn a profit of Rs.12, 000
¢) Margin of safety in 2020.

f)  Variable cost of the two years.

BRTRE WD) UG DTW BDREALH &N

== weTetl(TR.) Py (TR.)
2019 1,20,000 8,000
2020 1,40,000 13,000
TOWDY Z2oBOWO.

a) Opy [T ORIV

b) R=AS wom

¢) Tw. 1,380,000 =moewg wids oo

d) Te. 12,000 cogpnomen Bemon ©00083

e)  Femd Qn3 2020 TY

) ooz 5%, T TREAVA.
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10. Prepare a flexible budget from the following information for 12,000 and 15,000 units. For
production of 10,000 units. The expenses incurred are as follows :

Particulars | Per unit (Rs.)
Direct Material 60
Di-ect labour | 30
Fixed overhead (Rs.1,50,000) _ 15
Variable overhead 25
Variable expenses (Direct) : 5
Selling expenses (10% Fixed) ' 15

Administrative expenses

(Rs.50,000 fixed for all levels of production) 5
Distribution expenses (20% Fixed) 5
Total cost 160

12000 oRweder @B 15000 cDREJFAPR BO SONTODTJ, OB LBOVD. B3
SN ﬁz;iﬁ%i) 10,000 cwelenen ﬁe&@gﬁd.

D=5 L 0w ChedR ()
JeT B, WO, 60
33 30 | - 30
33 33 (%.1,50,000) 15
TR %, % 25
wsoonss Sed S | 5
IRTOES ﬁzg (10% A3) 15
QY BOBBY AT ©BOIE 353 (30.50,000) 5
WSTee [ (20% %d) 5

2ty 323 _ 160
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I1. Prepare a cash Budget from the following for the period April to June 2020 from the
following information. '

Month  Credit sales (Rs.) Purchases(Rs.) Wages(Rs.)

February 1,80,000 1,24,800 12,000
March  1,92,000 1,44,000 14,000
Apil  1,08.000 243,000 11,000
May 174,000 246,000 10,000
June - 1,26,000 268,000 15,000

50% of the credit sales are realised in the month following the sales and the remaining
50% in the second month following creditors are paid in the month following the month
of purchases wages are paid in the same month. Cash in hand was Rs.25,000 on April 1+
2020.

AT SOBJOD Td BEDOL. VLS VOT W 20203 S3A.
doned Ul RRTe(SR.) | DIEA(TR.) 2RO(TR.)

BWWO 1,80,000 1,24,800 12,000
<oosF  1,92,000 1,44,000 14,000
e 1,08,000 2,43,000 11,000
20¢ 1,74,000 -2,46,000 10,000
BRS® 1,26,000 2,68,000 15,000

50% evT0 THTRY) BOORT J0nYY BARD BB, B 50% [PoDLITE
RTBIe SONYY wZRO ST, TOTDTRTON BVOBT SO THRSRIMHIBT. BO0DI,

=D

RGO SonebndQ derdoarded. 5039 S D@ee’ 1 2020 Sowd e, 25,000.




